
A 720 mol/h stream of toluene contaminated oil (composition 95, mole percent oil and 5 mole percent 

toluene) is to be cleaned up by countercurrent contact with air in a stripping tower operating at 25 C 

and atmospheric pressure. The tower will be packed with 1 inch plastic Pall rings. Exiting liquid should 

have toluene mole fraction equal to 0.001. entering air is pure and the flow rate of air used will be 1.078 

times the minimum. The tower diameter is set at 17 inches. Under the proposed operating conditions Hx 

is 1.0 feet. What is the required packed height? Base your calculation on HOy and NOy 

Information and data you may need: As usual, neglect any evaporation of oil as well as dissolution of air 

in the liquid. Assume validity of Raoult’s Law for toluene. The saturated vapor pressure of toluene at 25 

C is 0.0380 atm. The oil has molecular weight 170, density 0.730 g/cm3 and viscosity 0.68 cP. Given the 

low toluene mole fractions throughout the tower, these properties of the pure oil may be used to 

approximate the corresponding properties of the liquid in the tower. A correlation for Hy is supplied. 













 


